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Past Questions: Statistical Measures

These questions have been collated from papers P001258, P001259, and P001260 available on Qualhub with the mark scheme for those questions at the end. 

The questions focus on the following subject content statements, although some questions may also assess other content:

L2 H23. Calculate the median and mode of a set of quantities.
L2 H24. Estimate the mean of a grouped frequency distribution from discrete data.
L2 H25. Use the mean, median, mode and range to compare two sets of data.

Please note that none of the questions in our live papers are stand alone, the assessments are split into 4 activities worth 15 marks each with each activity having a contextual theme that all questions are based upon. 

Some questions in this collation have additional wording to the actual past papers to ensure enough context is included from the activity it came from.




Non Calculator Questions

	1.
	
	Zak looks at the weather forecast.

This table shows the highest daily temperatures forecast for the next eight days.

	Day
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Temperature °C
	15
	19
	17
	15
	15
	20
	19
	16
	
	



· The median of the ten temperatures is 17.5 °C and
· the ten temperatures have two modes.

Use this information to find the forecast temperatures for Day 9 and Day 10.

		[2 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	Day 9:

	
	
	
	
	Day 10:







		2.



	
	Asha swims 1 km each time she goes to the pool. 

She always records how long this takes her.

The table shows her data for 10 swims.

	Time taken to swim 
1 km (minutes)
	Number of swims

	25 < time ≤ 26
	2

	26 < time ≤ 27
	4

	27 < time ≤ 28
	4










Estimate Asha’s mean time to swim 1 km
 [3 marks]


	
	

	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
  				minutes




									
Calculator Questions

		
3(a)



	
	Chen is a volunteer with a community archaeology group. 

At the weekends she helps to dig at an archaeological site.

The site was open on Saturday and Sunday for 26 weekends during last year.

This table shows the number of days each volunteer attends out of the 52 days available.

The information for Chen is missing.


	Volunteer
	Number of days

	Ada
	48

	Barry
	25

	Tim
	30

	Chris
	24

	Gwen
	43

	Sia
	39

	Rita
	40

	Rav
	18

	Jon
	35

	Chen
	


 



































Chen says that the mode of the 9 values is 48

Is she correct? 

Explain your answer.
[1 mark]


	
	

	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

		

3(b)



	
	
The median number of days for the 10 volunteers including Chen was 33.5

What fraction of the days did Chen attend?

Give the fraction in its simplest form.
 [3 marks]


	
	

	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
  

	4.
	
	A Department of Transport survey collected data on the percentages of cars travelling at different speeds on a motorway.

The table shows the results of this survey:


	Speed (mph)
	Percentage of cars

	
40  speed < 50
	4

	
50  speed < 60
	13

	
60  speed < 70
	36

	
70  speed < 90
	47












Work out an estimate for the mean speed.
[2 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
mph





	5.
	
	The table shows the number of people attending Speed Awareness Courses each year from 2014 to 2018:

	Year
	Total number of people

	2014
	1 355 796

	2015
	1 403 555

	2016
	1 390 880

	2017
	1 413 598

	2018
	1 445 817



Jed says the mean number of people attending each year for 2017 and 2018 
is over 3% percent higher than the mean number for 2014 to 2016.

Is Jed right? Show how you decide.
 [4 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	




	6.
	Rafa and his friends cycle to keep fit.

They want to reduce the mean time it takes them to cycle 10 km

Their target is to reduce the time by 11% within 12 weeks.

This table shows their times in Week 1 and Week 12.

	
	Time (minutes) to cycle 10 km 

	
	Week 1
	Week 12

	Ann
	26.3
	23.9

	Mike
	22.0
	20.2

	Rafa
	28.1
	25.7

	Ali
	24.9
	20.4

	Maria
	18.4
	18.1

	Luke
	21.7
	20.7

	Becky
	20.3
	17.3



Has the group achieved its target? Show how you decide.
 [4 marks]


	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	
Your answer:
	
					


		7.



	
	The manager of a small business claims that the mean salary in the company has gone up by over 10% in the last year.

One of the workers says that the gap between the highest and lowest earners has more than doubled.

Use this data about the company salaries to decide whether each of the statements is true. 

Show your working.                                         [5 marks]


	Annual salaries (£s)

	Last year (12 employees)
	
	This year (14 employees)

	15 275
	42 122
	15 679
	
	15 500
	33 775
	17 995
	34 065

	20 000
	25 344
	25 879
	
	21 339
	20 112
	24 995
	23 115

	85 682
	15 998
	53 245
	
	157 250
	40 631
	45 888
	

	55 333
	70 507
	32 196
	
	60 200
	80 555
	17 160
	





	
	

	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
  


	8.
	
	Dan wants to expand his patio cleaning business.

Next year he plans to clean patios from 8.30am to 3.30pm, Monday to Friday
for 26 weeks during the spring and summer.

This table shows how long each job took Dan this year.

The times include travel time.

	Time per cleaning job
	Number of jobs

	30 < time ≤ 60 minutes
	25

	60 < time ≤ 90 minutes
	36

	90 < time ≤ 120 minutes
	45

	120 < time ≤ 150 minutes
	21

	Total
	127



Use the data to estimate how many patios Dan can clean next year if he works the hours planned.                                                                              
[5 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
patios

	9.
	
	Rani is asked to work out the average number of orders per month last year.

The table shows the number of orders each month.



	Month
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

	Number of orders
	180
	182
	129
	146
	138
	45
	45
	125
	148
	132
	195
	202



	
	
	
Work out both the median and the mode for Rani and give one reason why the median is the better average for her to use.
[4 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


Your answer:
	



Mark scheme

	Q
	Marks
	UPS/PS
	Process and Answer
	Additional or Alternative Evidence (with guidance)
	SC

	1
	2
	PS
	18 (˚C) and 19 (˚C)
	Award 2 marks if correct answer given
	

	
	1
	
	18 (˚C)
	Either order acceptable
	H23a

	
	1
	
	19 (˚C)
	
	H23b

	2
	3
	UPS
	26.7 (mins) or 26 mins 42 seconds
	Award 3 marks if correct answer given
	

	
	1
	
	(25.5 × 2) + (26.5 × 4) + (27.5 × 4)
or 51 + 106 + 110 or 267
	
	H24

	
	1
	
	their 267 ÷ 10
	“Their” is value calculated in 1st mark
	H24

	
	1
	
	26.7 (mins) or 26 mins 42 seconds
	CAO
	H24

	3(a)
	1
	PS
	No with correct explanation
	e.g. there is no mode
e.g. 48 is the highest not the mode
	H23b

	3(b)
	3
	PS
	[image: ]
	Award 3 marks if correct answer given
	

	
	1
	
	35
	Median for 9 volunteers i.e. current 5th value
	H23a

	
	1
	
	32
	Value for Chen implies first mark
	H23a

	
	1
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	CAO
	N8

	4
	2
	UPS
	69.95 or 70 (mph)
	Award 2 marks if correct answer given
	

	
	1
	
	(45 × 4) + (55 × 13) + (65 × 36) + (80 × 47) or 6995
	Allow 75 × 47 or 6760
	H24

	
	1
	
	69.95 or 70 (mph)
	
	H24

	5
	4
	PS
	3.3(…) (%) or 1424912(.3) or 1424913 AND yes
	
	

	
	1
	
	(1355796 + 1403555 + 1390880) ÷ 3
or (1413598 + 1445817) ÷ 2
	
	H25

	
	1
	
	1383410(.3…) or 1383411 AND 1429707(.5) or 1429708
	CAO Implies first mark
	H25

	
	1
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or
(their 1429707 – their 1383410) × 100 ÷ 
their 1383410
or 1.03 × their 1383410 or 1424912(…) or 
1424913
	FT Their values from correct methods for 
mean 
Accept if 3% of 1383410.3 (41602.31) 
seen
OE
	N6a

	
	1
	
	3.3(…) (%) or 1424912 (…) or 1424913
AND yes
	CAO
Award if Yes and 4794.86 seen
	N6a

	6
	4
	PS
	See below
	
	

	
	Alternative method 1

	
	1
	
	23.1
	CAO
	H25

	
	1
	
	20.9
	CAO
	H25

	
	1
	
	(their 23.1 – their 20.9) ÷ their 23.1
	OE 
FT their means
	N6a

	
	1
	
	9.5(…) or 9.6 or 10 and no
	FT their 23.1 and 20.9
[9.5 – 10] seen implies 3rd mark
	N6a

	
	Alternative method 2

	
	
	
	23.1
	CAO
	H25

	
	
	
	20.9
	CAO
	H25

	
	
	
	Their 23.1 × 0.89 or 20.559 or 20.6
	OE 
FT their means from correct method
	N6a

	
	
	
	20.6 and no
	FT their 23.1 and 20.9
	N6a

	7
	5
	PS
	See below
	
	

	
	1
	
	457 260 ÷ 12 = 38105
	Correct mean for last year
	H25

	
	1
	
	592 578 ÷ 14 = 42327
	Correct mean for this year
	H25

	
	1
	
	(their 42327 – their 38105) ÷ 38105 
or 11(.07…)
or 1.1 × their 38105 or 41915.50
	Calculates the percentage increase or finds last year increased by 10%
“Their” is values calculated in 1st and 2nd
marks
	M13b

	
	1
	
	70407 and 141750
	Range for both sets
	H25

	
	1
	
	States that both statements are correct
	FT their values if method fully correct
	N1b

	8
	5
	PS
	609 (patios)
	Award 5 marks if correct answer given
	

	
	Alternative method 1 (hours)

	
	1
	
	7 × 5 × 26 or 910
	Time available (hours)
	N2a

	
	1
	
	(45 × 25) + (75 × 36) + (105 × 45) + 
(135 × 21)
or 1125 + 2700 + 4725 + 2835
or 11385 (mins)
or 189.75 (hours)
	Accept consistent use of upper or lower bounds
	H24

	
	1
	
	(189.75 ÷ 127) = 1.49(…) or 1.5
	CAO mean hours per job
	H24

	
	1
	
	Their 910 ÷ their 1.5 or [606, 611]
	FT from division by 127 with consistent use of midpoints or upper or lower bounds
	M15

	
	1
	
	609 (patios)
	FT their [606, 611] rounded up or down to a whole number
	M15

	
	Alternative method 2 (minutes)

	
	1
	
	7 × 5 × 26 × 60 or 54600
	time available (mins)
	N11a

	
	1
	
	(45 × 25) + (75 × 36) + (105 × 45) + 
(135 × 21)
or 1125 + 2700 + 4725 + 2835
or 11385 (mins)
	Accept consistent use of upper or lower bounds
	H24

	
	1
	
	Their 11385 ÷ (25 + 36 + 45 + 21)
or their 11385 ÷ 127
or 89.6(…) or 90
	CAO mean mins per job
	H24

	
	1
	
	Their 54600 ÷ their 90 or [606, 611]
	FT from division by 127
	M15

	
	1
	
	609 (patios)
	FT their [606, 611] rounded up or down 
to a whole number
Accept rounding to nearest 10
	M15




	9
	4
	PS
	See below
	
	

	
	1
	
	45 45 125 129 132 138 146
or 202 195 182 180 148 146 138
	
	H23a

	
	1
	
	142 (median)
	CAO
Implies first mark
	H23a

	
	1
	
	45 (mode)
	CAO
	H23a

	
	1
	
	Any valid comment
	e.g. it is in the middle / it is more central / the mode is too low
	H23b
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